
{"app_name":"darktable","timestamp":"2024-12-23 16:16:28.00 
+0100","app_version":"5.0.0","slice_uuid":"cb7e2152-6219-3609-9c8f-6
07fed94ea5c","build_version":"5.0.0.0","platform":1,"bundleID":"org.
darktable","share_with_app_devs":0,"is_first_party":0,"bug_type":"30
9","os_version":"macOS 15.1.1 
(24B91)","roots_installed":0,"name":"darktable","incident_id":"D2E04
0B0-8F37-4AE8-B1AA-26C1FB380D2C"}
{
  "uptime" : 16000,
  "procRole" : "Foreground",
  "version" : 2,
  "userID" : 501,
  "deployVersion" : 210,
  "modelCode" : "Mac14,12",
  "coalitionID" : 1172,
  "osVersion" : {
    "train" : "macOS 15.1.1",
    "build" : "24B91",
    "releaseType" : "User"
  },
  "captureTime" : "2024-12-23 16:16:28.1235 +0100",
  "codeSigningMonitor" : 1,
  "incident" : "D2E040B0-8F37-4AE8-B1AA-26C1FB380D2C",
  "pid" : 2191,
  "translated" : false,
  "cpuType" : "ARM-64",
  "roots_installed" : 0,
  "bug_type" : "309",
  "procLaunch" : "2024-12-23 16:15:22.9991 +0100",
  "procStartAbsTime" : 393116992297,
  "procExitAbsTime" : 394679486592,
  "procName" : "darktable",
  "procPath" : "\/Applications\/darktable.app\/Contents\/MacOS\/
darktable",
  "bundleInfo" : 
{"CFBundleShortVersionString":"5.0.0","CFBundleVersion":"5.0.0.0","C
FBundleIdentifier":"org.darktable"},
  "storeInfo" : 
{"deviceIdentifierForVendor":"94E43ED6-0B89-5159-8ED3-
C450A5407C56","thirdParty":true},
  "parentProc" : "launchd",
  "parentPid" : 1,
  "coalitionName" : "org.darktable",
  "crashReporterKey" : "4ED5CEBE-52CD-B87C-3673-6EB46E11630D",
  "codeSigningID" : "org.darktable",
  "codeSigningTeamID" : "",
  "codeSigningFlags" : 570425857,
  "codeSigningValidationCategory" : 10,
  "codeSigningTrustLevel" : 4294967295,
  "instructionByteStream" : 
{"beforePC":"VAAAtIkCALlTAAC0aAIAuSAAgFKm\/\/
8XCACAEukDAKrqAwmqKQ1A+Q==","atPC":"KWlA+QgFABGJ\/\/
+1CQCAEuwDAarrAwyqjA1A+YxpQPkpBQARjP\/\/tQ=="},
  "bootSessionUUID" : "0A6E9D49-08CF-4BE5-B7B8-8E40A98C264B",



  "wakeTime" : 1886,
  "sleepWakeUUID" : "3342B5E9-DD7D-4091-9D43-24237BC5E66C",
  "sip" : "enabled",
  "vmRegionInfo" : "0xd0 is not in any region.  Bytes before 
following region: 4304273200\n      REGION TYPE                    
START - END         [ VSIZE] PRT\/MAX SHRMOD  REGION DETAIL\n      
UNUSED SPACE AT START\n--->  \n      __TEXT                      
1008e0000-1008f4000    [   80K] r-x\/r-x SM=COW  \/Applications\/
darktable.app\/Contents\/MacOS\/darktable",
  "exception" : {"codes":"0x0000000000000001, 
0x00000000000000d0","rawCodes":
[1,208],"type":"EXC_BAD_ACCESS","signal":"SIGSEGV","subtype":"KERN_I
NVALID_ADDRESS at 0x00000000000000d0"},
  "termination" : 
{"flags":0,"code":11,"namespace":"SIGNAL","indicator":"Segmentation 
fault: 11","byProc":"exc handler","byPid":2191},
  "vmregioninfo" : "0xd0 is not in any region.  Bytes before 
following region: 4304273200\n      REGION TYPE                    
START - END         [ VSIZE] PRT\/MAX SHRMOD  REGION DETAIL\n      
UNUSED SPACE AT START\n--->  \n      __TEXT                      
1008e0000-1008f4000    [   80K] r-x\/r-x SM=COW  \/Applications\/
darktable.app\/Contents\/MacOS\/darktable",
  "extMods" : {"caller":
{"thread_create":0,"thread_set_state":0,"task_for_pid":0},"system":
{"thread_create":0,"thread_set_state":0,"task_for_pid":0},"targeted"
:
{"thread_create":0,"thread_set_state":0,"task_for_pid":0},"warnings"
:0},
  "faultingThread" : 0,
  "threads" : [{"triggered":true,"id":177550,"threadState":{"x":
[{"value":5274844432},{"value":5531548976},{"value":5531548976},
{"value":6162607712},
{"value":4338669456,"symbolLocation":0,"symbol":"gtk_widget_real_gra
b_focus"},{"value":0},{"value":0},
{"value":4322797484,"symbolLocation":0,"symbol":"g_cclosure_marshal_
VOID__VOIDv"},{"value":4294967295},{"value":0},{"value":5274844432},
{"value":5282908176},{"value":5282908176},{"value":1099511628032},
{"value":1},
{"value":8567324672,"symbolLocation":0,"symbol":"cbc_des_encrypt"},
{"value":4322914364,"symbolLocation":0,"symbol":"g_type_check_instan
ce_is_a"},{"value":5301620208},{"value":0},{"value":5531548976},
{"value":5531606832},{"value":5274844432},{"value":6162607712},
{"value":5531548976},{"value":0},{"value":344},{"value":0},
{"value":4322790232,"symbolLocation":0,"symbol":"g_type_class_meta_m
arshalv"},{"value":0}],"flavor":"ARM_THREAD_STATE64","lr":
{"value":4338669588},"cpsr":{"value":2147487744},"fp":
{"value":6162607088},"sp":{"value":6162607056},"esr":
{"value":2449473542,"description":"(Data Abort) byte read 
Translation fault"},"pc":
{"value":4338614236,"matchesCrashFrame":1},"far":
{"value":208}},"queue":"com.apple.main-thread","frames":
[{"imageOffset":2572252,"symbol":"gtk_widget_common_ancestor","symbo
lLocation":16,"imageIndex":15},
{"imageOffset":2627604,"symbol":"gtk_widget_real_grab_focus","symbol
Location":132,"imageIndex":15},
{"imageOffset":33720,"symbol":"_g_closure_invoke_va","symbolLocation
":212,"imageIndex":25},
{"imageOffset":124732,"symbol":"signal_emit_valist_unlocked","symbol
Location":1044,"imageIndex":25},
{"imageOffset":123644,"symbol":"g_signal_emit_valist","symbolLocatio
n":64,"imageIndex":25},
{"imageOffset":126568,"symbol":"g_signal_emit","symbolLocation":28,"
imageIndex":25},
{"imageOffset":2581024,"symbol":"gtk_widget_grab_focus","symbolLocat
ion":100,"imageIndex":15},
{"imageOffset":1179812,"symbol":"_gui_delete_callback","symbolLocati
on":376,"imageIndex":1},
{"imageOffset":33212,"symbol":"g_closure_invoke","symbolLocation":20
0,"imageIndex":25},
{"imageOffset":129252,"symbol":"signal_emit_unlocked_R","symbolLocat
ion":1284,"imageIndex":25},
{"imageOffset":125680,"symbol":"signal_emit_valist_unlocked","symbol
Location":1992,"imageIndex":25},
{"imageOffset":123644,"symbol":"g_signal_emit_valist","symbolLocatio
n":64,"imageIndex":25},
{"imageOffset":126568,"symbol":"g_signal_emit","symbolLocation":28,"
imageIndex":25},
{"imageOffset":2579420,"symbol":"gtk_widget_activate","symbolLocatio
n":80,"imageIndex":15},
{"imageOffset":1436096,"symbol":"gtk_menu_shell_activate_item","symb
olLocation":252,"imageIndex":15},
{"imageOffset":1442252,"symbol":"gtk_menu_shell_button_release","sym
bolLocation":460,"imageIndex":15},
{"imageOffset":48436,"symbol":"_gtk_marshal_BOOLEAN__BOXEDv","symbol
Location":124,"imageIndex":15},
{"imageOffset":33720,"symbol":"_g_closure_invoke_va","symbolLocation
":212,"imageIndex":25},
{"imageOffset":124732,"symbol":"signal_emit_valist_unlocked","symbol
Location":1044,"imageIndex":25},
{"imageOffset":123644,"symbol":"g_signal_emit_valist","symbolLocatio
n":64,"imageIndex":25},
{"imageOffset":126568,"symbol":"g_signal_emit","symbolLocation":28,"
imageIndex":25},
{"imageOffset":2577120,"symbol":"gtk_widget_event_internal","symbolL
ocation":300,"imageIndex":15},
{"imageOffset":1365304,"symbol":"propagate_event","symbolLocation":3
88,"imageIndex":15},
{"imageOffset":1362268,"symbol":"gtk_main_do_event","symbolLocation"
:1048,"imageIndex":15},
{"imageOffset":91404,"symbol":"_gdk_event_emit","symbolLocation":64,
"imageIndex":16},
{"imageOffset":238052,"symbol":"gdk_event_dispatch","symbolLocation"
:52,"imageIndex":16},
{"imageOffset":234028,"symbol":"g_main_context_dispatch_unlocked","s
ymbolLocation":236,"imageIndex":14},
{"imageOffset":234868,"symbol":"g_main_context_iterate_unlocked","sy
mbolLocation":484,"imageIndex":14},
{"imageOffset":235512,"symbol":"g_main_loop_run","symbolLocation":12
0,"imageIndex":14},
{"imageOffset":1360864,"symbol":"gtk_main","symbolLocation":92,"imag
eIndex":15},
{"imageOffset":1724568,"symbol":"dt_gui_gtk_run","symbolLocation":19
2,"imageIndex":1},
{"imageOffset":81596,"symbol":"main","symbolLocation":400,"imageInde
x":0},
{"imageOffset":25204,"symbol":"start","symbolLocation":2840,"imageIn
dex":264}]},{"id":177559,"frames":
[{"imageOffset":8424,"symbol":"start_wqthread","symbolLocation":0,"i
mageIndex":266}],"threadState":{"x":[{"value":6163165184},
{"value":4099},{"value":6162628608},{"value":0},{"value":409604},
{"value":18446744073709551615},{"value":0},{"value":0},{"value":0},
{"value":0},{"value":0},{"value":0},{"value":0},{"value":0},
{"value":0},{"value":0},{"value":0},{"value":0},{"value":0},
{"value":0},{"value":0},{"value":0},{"value":0},{"value":0},
{"value":0},{"value":0},{"value":0},{"value":0},
{"value":0}],"flavor":"ARM_THREAD_STATE64","lr":{"value":0},"cpsr":
{"value":4096},"fp":{"value":0},"sp":{"value":6163165184},"esr":
{"value":1442840704,"description":" Address size fault"},"pc":
{"value":6906437864},"far":{"value":0}}},{"id":177560,"frames":
[{"imageOffset":8424,"symbol":"start_wqthread","symbolLocation":0,"i
mageIndex":266}],"threadState":{"x":[{"value":6163738624},
{"value":8195},{"value":6163202048},{"value":0},{"value":409604},
{"value":18446744073709551615},{"value":0},{"value":0},{"value":0},
{"value":0},{"value":0},{"value":0},{"value":0},{"value":0},
{"value":0},{"value":0},{"value":0},{"value":0},{"value":0},
{"value":0},{"value":0},{"value":0},{"value":0},{"value":0},
{"value":0},{"value":0},{"value":0},{"value":0},
{"value":0}],"flavor":"ARM_THREAD_STATE64","lr":{"value":0},"cpsr":
{"value":4096},"fp":{"value":0},"sp":{"value":6163738624},"esr":
{"value":1442840704,"description":" Address size fault"},"pc":
{"value":6906437864},"far":{"value":0}}},{"id":177561,"frames":
[{"imageOffset":8424,"symbol":"start_wqthread","symbolLocation":0,"i
mageIndex":266}],"threadState":{"x":[{"value":6164312064},
{"value":13827},{"value":6163775488},{"value":0},{"value":409602},
{"value":18446744073709551615},{"value":0},{"value":0},{"value":0},
{"value":0},{"value":0},{"value":0},{"value":0},{"value":0},
{"value":0},{"value":0},{"value":0},{"value":0},{"value":0},
{"value":0},{"value":0},{"value":0},{"value":0},{"value":0},
{"value":0},{"value":0},{"value":0},{"value":0},
{"value":0}],"flavor":"ARM_THREAD_STATE64","lr":{"value":0},"cpsr":
{"value":4096},"fp":{"value":0},"sp":{"value":6164312064},"esr":
{"value":1442840704,"description":" Address size fault"},"pc":
{"value":6906437864},"far":{"value":0}}},{"id":177562,"name":"pool-
spawner","threadState":{"x":[{"value":260},{"value":0},
{"value":768},{"value":0},{"value":0},{"value":160},{"value":0},
{"value":0},{"value":6164885048},{"value":0},{"value":0},
{"value":2},{"value":2},{"value":0},{"value":0},{"value":0},
{"value":305},{"value":8738789384},{"value":0},{"value":5283938528},
{"value":5283938592},{"value":6164885728},{"value":0},{"value":0},
{"value":768},{"value":769},{"value":1024},{"value":0},
{"value":0}],"flavor":"ARM_THREAD_STATE64","lr":
{"value":6906460308},"cpsr":{"value":1610616832},"fp":
{"value":6164885168},"sp":{"value":6164885024},"esr":
{"value":1442840704,"description":" Address size fault"},"pc":
{"value":6906205644},"far":{"value":0}},"frames":
[{"imageOffset":17868,"symbol":"__psynch_cvwait","symbolLocation":8,
"imageIndex":267},
{"imageOffset":30868,"symbol":"_pthread_cond_wait","symbolLocation":
1204,"imageIndex":266},
{"imageOffset":394548,"symbol":"g_cond_wait","symbolLocation":44,"im
ageIndex":14},
{"imageOffset":39344,"symbol":"g_async_queue_pop_intern_unlocked","s
ymbolLocation":116,"imageIndex":14},
{"imageOffset":399284,"symbol":"g_thread_pool_spawn_thread","symbolL
ocation":124,"imageIndex":14},
{"imageOffset":395612,"symbol":"g_thread_proxy","symbolLocation":68,
"imageIndex":14},
{"imageOffset":29412,"symbol":"_pthread_start","symbolLocation":136,
"imageIndex":266},
{"imageOffset":8444,"symbol":"thread_start","symbolLocation":8,"imag
eIndex":266}]},{"id":177563,"name":"gmain","threadState":{"x":
[{"value":4},{"value":0},{"value":6165458304},{"value":6165458176},
{"value":6165458568},{"value":5537455728},{"value":10},
{"value":1568},{"value":6165458568},{"value":1000},{"value":32},
{"value":2},{"value":5536401992},{"value":13},{"value":0},
{"value":14919573985120223232},{"value":93},{"value":0},{"value":0},
{"value":5536402000},{"value":3995},{"value":5536401984},
{"value":13},{"value":5536402000},{"value":13},{"value":6165458176},
{"value":1},{"value":6165458304},
{"value":6165458432}],"flavor":"ARM_THREAD_STATE64","lr":
{"value":4321838144},"cpsr":{"value":2684358656},"fp":
{"value":6165458672},"sp":{"value":6165458160},"esr":
{"value":1442840704,"description":" Address size fault"},"pc":
{"value":6906236572},"far":{"value":0}},"frames":
[{"imageOffset":48796,"symbol":"__select","symbolLocation":8,"imageI
ndex":267},
{"imageOffset":296000,"symbol":"g_poll","symbolLocation":424,"imageI
ndex":14},
{"imageOffset":234764,"symbol":"g_main_context_iterate_unlocked","sy
mbolLocation":380,"imageIndex":14},
{"imageOffset":234964,"symbol":"g_main_context_iteration","symbolLoc
ation":60,"imageIndex":14},
{"imageOffset":239624,"symbol":"glib_worker_main","symbolLocation":4
8,"imageIndex":14},
{"imageOffset":395612,"symbol":"g_thread_proxy","symbolLocation":68,
"imageIndex":14},
{"imageOffset":29412,"symbol":"_pthread_start","symbolLocation":136,
"imageIndex":266},
{"imageOffset":8444,"symbol":"thread_start","symbolLocation":8,"imag
eIndex":266}]},{"id":177565,"frames":
[{"imageOffset":17868,"symbol":"__psynch_cvwait","symbolLocation":8,
"imageIndex":267},
{"imageOffset":30868,"symbol":"_pthread_cond_wait","symbolLocation":
1204,"imageIndex":266},
{"imageOffset":1908260,"symbol":"std::sync::condvar::Condvar::wait::
hc6b0eca7431304a5","symbolLocation":136,"imageIndex":37},
{"imageOffset":3097036,"symbol":"rayon_core::sleep::Sleep::sleep::h5
10aab999d3dfc97","symbolLocation":612,"imageIndex":37},
{"imageOffset":3095200,"symbol":"rayon_core::registry::WorkerThread:
:wait_until_cold::h899412701287a80c","symbolLocation":180,"imageInde
x":37},
{"imageOffset":1898560,"symbol":"rayon_core::registry::ThreadBuilder
::run::he64d7c8d72220ea6","symbolLocation":196,"imageIndex":37},
{"imageOffset":1910648,"symbol":"std::sys::backtrace::__rust_begin_s
hort_backtrace::h953e7a6146011c13","symbolLocation":52,"imageIndex":
37},
{"imageOffset":1919312,"symbol":"core::ops::function::FnOnce::call_o
nce$u7b$$u7b$vtable.shim$u7d$
$u7d$::h74d960f036d9cfe4","symbolLocation":224,"imageIndex":37},
{"imageOffset":2875840,"symbol":"std::sys::pal::unix::thread::Thread
::new::thread_start::h3d45bacb8043a502","symbolLocation":52,"imageIn
dex":37},
{"imageOffset":29412,"symbol":"_pthread_start","symbolLocation":136,
"imageIndex":266},
{"imageOffset":8444,"symbol":"thread_start","symbolLocation":8,"imag
eIndex":266}],"threadState":{"x":[{"value":260},{"value":0},
{"value":4096},{"value":0},{"value":0},{"value":160},{"value":0},
{"value":0},{"value":6167603592},{"value":0},{"value":1024},
{"value":4398046512130},{"value":4398046512130},{"value":1024},
{"value":0},{"value":4398046512128},{"value":305},
{"value":8738789384},{"value":0},{"value":5282952368},
{"value":5283005952},{"value":6167605472},{"value":0},{"value":0},
{"value":4096},{"value":4097},{"value":4352},{"value":2},
{"value":4391438968,"symbolLocation":0,"symbol":"_$LT$rayon_core..jo
b..HeapJob$LT$BODY$GT$
$u20$as$u20$rayon_core..job..Job$GT$::execute::h67dc4ff574105693"}],
"flavor":"ARM_THREAD_STATE64","lr":{"value":6906460308},"cpsr":
{"value":1610616832},"fp":{"value":6167603712},"sp":
{"value":6167603568},"esr":{"value":1442840704,"description":" 
Address size fault"},"pc":{"value":6906205644},"far":{"value":0}}},
{"id":177566,"frames":
[{"imageOffset":17868,"symbol":"__psynch_cvwait","symbolLocation":8,
"imageIndex":267},
{"imageOffset":30868,"symbol":"_pthread_cond_wait","symbolLocation":
1204,"imageIndex":266},
{"imageOffset":1908260,"symbol":"std::sync::condvar::Condvar::wait::
hc6b0eca7431304a5","symbolLocation":136,"imageIndex":37},
{"imageOffset":3097036,"symbol":"rayon_core::sleep::Sleep::sleep::h5
10aab999d3dfc97","symbolLocation":612,"imageIndex":37},
{"imageOffset":3095200,"symbol":"rayon_core::registry::WorkerThread:
:wait_until_cold::h899412701287a80c","symbolLocation":180,"imageInde
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{"imageOffset":1898560,"symbol":"rayon_core::registry::ThreadBuilder
::run::he64d7c8d72220ea6","symbolLocation":196,"imageIndex":37},
{"imageOffset":1910648,"symbol":"std::sys::backtrace::__rust_begin_s
hort_backtrace::h953e7a6146011c13","symbolLocation":52,"imageIndex":
37},
{"imageOffset":1919312,"symbol":"core::ops::function::FnOnce::call_o
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{"imageOffset":2875840,"symbol":"std::sys::pal::unix::thread::Thread
::new::thread_start::h3d45bacb8043a502","symbolLocation":52,"imageIn
dex":37},
{"imageOffset":29412,"symbol":"_pthread_start","symbolLocation":136,
"imageIndex":266},
{"imageOffset":8444,"symbol":"thread_start","symbolLocation":8,"imag
eIndex":266}],"threadState":{"x":[{"value":260},{"value":0},
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"flavor":"ARM_THREAD_STATE64","lr":{"value":6906460308},"cpsr":
{"value":1610616832},"fp":{"value":6169750016},"sp":
{"value":6169749872},"esr":{"value":1442840704,"description":" 
Address size fault"},"pc":{"value":6906205644},"far":{"value":0}}},
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Address size fault"},"pc":{"value":6906205644},"far":{"value":0}}},
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    "base" : 4345167872,
    "size" : 212992,
    "uuid" : "99ce4547-5924-35e1-aa62-6f1d4a8289cd",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/libfontconfig.1.dylib",
    "name" : "libfontconfig.1.dylib"
  },



  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4357308416,
    "size" : 507904,
    "uuid" : "26d566c1-3b1f-30fb-ba97-0413177dae5e",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/libfreetype.6.dylib",
    "name" : "libfreetype.6.dylib"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4399562752,
    "size" : 868352,
    "uuid" : "2a4ca82f-7c9e-3814-9840-4fe71cb271d2",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/libX11.6.dylib",
    "name" : "libX11.6.dylib"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4343988224,
    "size" : 49152,
    "uuid" : "fd706b27-845c-3b66-9744-6dd8d34f9ffa",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/libXext.6.dylib",
    "name" : "libXext.6.dylib"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4308320256,
    "size" : 32768,
    "uuid" : "8baddd45-45bb-3963-a5ff-b250f9f0ae3f",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/libXrender.1.dylib",
    "name" : "libXrender.1.dylib"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4348706816,
    "size" : 81920,
    "uuid" : "8ef9b9ff-3f1e-39a6-bec1-e7d10db8e6cb",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/libxcb.1.dylib",
    "name" : "libxcb.1.dylib"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4332781568,



    "size" : 32768,
    "uuid" : "476a0562-8f0d-3135-a2fe-edccd58f3588",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/libxcb-render.0.dylib",
    "name" : "libxcb-render.0.dylib"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4308221952,
    "size" : 16384,
    "uuid" : "a1c61032-dc79-3bd0-a91e-0eafb93838cb",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/libxcb-shm.0.dylib",
    "name" : "libxcb-shm.0.dylib"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4357963776,
    "size" : 475136,
    "uuid" : "b0b16aa3-21d9-37d8-9792-82bddfa080a7",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/libpixman-1.0.dylib",
    "name" : "libpixman-1.0.dylib"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4321427456,
    "size" : 16384,
    "uuid" : "bf6689dc-5292-350c-94b7-d1d71956c572",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/libXau.6.dylib",
    "name" : "libXau.6.dylib"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4333535232,
    "size" : 16384,
    "uuid" : "11368a67-e3a3-3d6f-ae03-78456881a92e",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/libXdmcp.6.dylib",
    "name" : "libXdmcp.6.dylib"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4345004032,
    "size" : 81920,
    "uuid" : "dadd250f-e2ba-36f3-b960-ea391395d1e7",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/libgraphite2.3.dylib",



    "name" : "libgraphite2.3.dylib"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4350492672,
    "size" : 65536,
    "uuid" : "d24171e0-fec6-30a2-946b-2b9ac2b739e4",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/libpangoft2-1.0.0.dylib",
    "name" : "libpangoft2-1.0.0.dylib"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4348903424,
    "size" : 32768,
    "uuid" : "18575608-f92e-392c-92ee-1a50621d0613",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/libltdl.7.dylib",
    "name" : "libltdl.7.dylib"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4355194880,
    "size" : 131072,
    "uuid" : "81bb1cfa-d44b-3e56-8263-88ccb4062274",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/libexif.12.dylib",
    "name" : "libexif.12.dylib"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4354916352,
    "size" : 49152,
    "uuid" : "f8a1cf4f-708a-3240-9ffe-b1b25cb4ad6e",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/libdeflate.0.dylib",
    "name" : "libdeflate.0.dylib"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4355031040,
    "size" : 49152,
    "uuid" : "94cae2b8-9af4-3162-8135-39c184af4cbb",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/libjxl_cms.0.11.dylib",
    "name" : "libjxl_cms.0.11.dylib"
  },
  {
    "source" : "P",



    "arch" : "arm64",
    "base" : 4355473408,
    "size" : 32768,
    "uuid" : "35666841-18ae-32b3-a37b-d33d3c347610",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/libhwy.1.dylib",
    "name" : "libhwy.1.dylib"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4355571712,
    "size" : 49152,
    "uuid" : "cc77e640-3de5-3d9c-9565-c60ed8119746",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/libbrotlidec.1.dylib",
    "name" : "libbrotlidec.1.dylib"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4355850240,
    "size" : 131072,
    "uuid" : "cbb61532-d27c-331e-996e-843ed45f10e9",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/libbrotlicommon.1.dylib",
    "name" : "libbrotlicommon.1.dylib"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4401250304,
    "size" : 573440,
    "uuid" : "159e74da-1746-3bd8-92e3-42426d7faf27",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/libbrotlienc.1.dylib",
    "name" : "libbrotlienc.1.dylib"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4335960064,
    "size" : 16384,
    "uuid" : "3401c019-1ec4-312b-b850-afaa6ee325b7",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/libsharpyuv.0.dylib",
    "name" : "libsharpyuv.0.dylib"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4415143936,
    "size" : 3538944,
    "uuid" : "f662f185-80b8-3f8c-bf61-5315a885456d",



    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/libaom.3.dylib",
    "name" : "libaom.3.dylib"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4402659328,
    "size" : 163840,
    "uuid" : "51edead5-f090-39d5-8a53-c56d7fabea93",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/libvmaf.3.dylib",
    "name" : "libvmaf.3.dylib"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4424286208,
    "size" : 3522560,
    "uuid" : "00683954-7bb2-39f5-ab69-c1ef0d374e5d",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/libx265.212.dylib",
    "name" : "libx265.212.dylib"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4401905664,
    "size" : 262144,
    "uuid" : "a88c8859-9f0b-30bd-bbaf-2b9f3239387f",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/libde265.0.dylib",
    "name" : "libde265.0.dylib"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4404346880,
    "size" : 573440,
    "uuid" : "d90ee661-7526-37bb-a50c-b5d85dfc63ce",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/libzstd.1.dylib",
    "name" : "libzstd.1.dylib"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4400594944,
    "size" : 131072,
    "uuid" : "131a4891-8890-3954-97e3-78c25a374e98",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/liblzma.5.dylib",
    "name" : "liblzma.5.dylib"
  },



  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4344856576,
    "size" : 16384,
    "uuid" : "fe92028b-5ab8-3ecd-8073-d90730a54672",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/libinih.0.dylib",
    "name" : "libinih.0.dylib"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4344922112,
    "size" : 16384,
    "uuid" : "43144140-c92f-39c9-9341-84fe6798a1cc",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/libINIReader.0.dylib",
    "name" : "libINIReader.0.dylib"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4411883520,
    "size" : 655360,
    "uuid" : "de8cd08d-1622-3335-809b-ba47c6a5085b",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/libgcrypt.20.dylib",
    "name" : "libgcrypt.20.dylib"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4400791552,
    "size" : 98304,
    "uuid" : "3741bc49-5a04-33cd-889a-f605156be85c",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/libgpg-error.0.dylib",
    "name" : "libgpg-error.0.dylib"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4358586368,
    "size" : 49152,
    "uuid" : "296d17c6-a2b4-3d6e-ae13-86d93c6936b1",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/liblqr-1.0.dylib",
    "name" : "liblqr-1.0.dylib"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4412719104,



    "size" : 557056,
    "uuid" : "ea966032-0283-3355-8413-2932d31ba25a",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/libfftw3.3.dylib",
    "name" : "libfftw3.3.dylib"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4358701056,
    "size" : 32768,
    "uuid" : "228aa245-920c-3b91-84ed-8d33f4a88f86",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/libfftw3_threads.3.dylib",
    "name" : "libfftw3_threads.3.dylib"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4402364416,
    "size" : 98304,
    "uuid" : "ed6dbbb5-64af-3b1d-9af8-009c5dd4bad7",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/libOpenEXRUtil-3_3.32.dylib",
    "name" : "libOpenEXRUtil-3_3.32.dylib"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4400988160,
    "size" : 81920,
    "uuid" : "94931bc6-3633-3818-8674-0105c2242634",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/libpsl.5.dylib",
    "name" : "libpsl.5.dylib"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4403937280,
    "size" : 196608,
    "uuid" : "a980ce71-e631-397d-a451-452a3a0be6ec",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/libidn2.0.dylib",
    "name" : "libidn2.0.dylib"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4421566464,
    "size" : 1884160,
    "uuid" : "e8557d4d-ca9a-3119-bee5-b246473a46c0",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/libunistring.5.dylib",



    "name" : "libunistring.5.dylib"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4414406656,
    "size" : 32768,
    "uuid" : "f5eb81a2-22c7-3943-ab51-01eb8be3168d",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/gdk-pixbuf-2.0\/2.10.0\/loaders\/libpixbufloader-svg.so",
    "name" : "libpixbufloader-svg.so"
  },
  {
    "source" : "P",
    "arch" : "arm64e",
    "base" : 4414898176,
    "size" : 49152,
    "uuid" : "f1242604-dcb7-30a9-a19a-182991e6e645",
    "path" : "\/usr\/lib\/libobjc-trampolines.dylib",
    "name" : "libobjc-trampolines.dylib"
  },
  {
    "source" : "P",
    "arch" : "arm64e",
    "base" : 4634296320,
    "CFBundleShortVersionString" : "322.10",
    "CFBundleIdentifier" : "com.apple.AGXMetalG14X",
    "size" : 7487488,
    "uuid" : "f6817cf9-b70f-382a-839f-1fdd973b9138",
    "path" : "\/System\/Library\/Extensions\/AGXMetalG14X.bundle\/
Contents\/MacOS\/AGXMetalG14X",
    "name" : "AGXMetalG14X",
    "CFBundleVersion" : "322.10"
  },
  {
    "source" : "P",
    "arch" : "arm64e",
    "base" : 4654432256,
    "CFBundleShortVersionString" : "1.0",
    "CFBundleIdentifier" : "com.apple.AppleMetalOpenGLRenderer",
    "size" : 425984,
    "uuid" : "cf2a5428-9317-35dd-847f-f1d1970961a0",
    "path" : "\/System\/Library\/Extensions\/
AppleMetalOpenGLRenderer.bundle\/Contents\/MacOS\/
AppleMetalOpenGLRenderer",
    "name" : "AppleMetalOpenGLRenderer",
    "CFBundleVersion" : "1"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4798382080,
    "size" : 81920,
    "uuid" : "b0ffe373-9a47-3205-86bb-97a93d4ba116",



    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/views\/libtethering.so",
    "name" : "libtethering.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4798676992,
    "size" : 81920,
    "uuid" : "0649a211-9fd7-38a5-b8bd-1c64319ba6ff",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/views\/liblighttable.so",
    "name" : "liblighttable.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4798513152,
    "size" : 81920,
    "uuid" : "161dd975-25a0-3236-a483-4017ed8a9a40",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/views\/libprint.so",
    "name" : "libprint.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4798840832,
    "size" : 81920,
    "uuid" : "009edf95-a3ba-32f1-8392-c04fee4ddb5a",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/views\/libslideshow.so",
    "name" : "libslideshow.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4799168512,
    "size" : 114688,
    "uuid" : "d6ca85f6-c14f-30e0-a07f-03720c1fcf8f",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/views\/libmap.so",
    "name" : "libmap.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4799578112,
    "size" : 114688,
    "uuid" : "5f1e8c0e-eda8-32eb-a096-8f5587935f33",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/views\/libdarkroom.so",
    "name" : "libdarkroom.so"
  },



  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4799365120,
    "size" : 98304,
    "uuid" : "ee6f0916-bea3-37ab-814f-1b5d93a23435",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/imageio\/format\/libxcf.so",
    "name" : "libxcf.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4799791104,
    "size" : 81920,
    "uuid" : "0e87b9b9-fb1f-3258-86f6-0dd916d25cca",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/imageio\/format\/libpng.so",
    "name" : "libpng.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4799938560,
    "size" : 81920,
    "uuid" : "bc2be6bc-582b-3b08-996b-cfb38b3d5628",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/imageio\/format\/libpdf.so",
    "name" : "libpdf.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4798971904,
    "size" : 16384,
    "uuid" : "faaefc1e-d0ba-309c-a3a7-aa40e36de1b7",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/gtk-3.0\/3.0.0\/immodules\/im-quartz.so",
    "name" : "im-quartz.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4800086016,
    "size" : 81920,
    "uuid" : "46bf11e8-dc8f-38e8-a38a-bb32ba2f5b10",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/imageio\/format\/libcopy.so",
    "name" : "libcopy.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4800364544,



    "size" : 81920,
    "uuid" : "fdc25f10-df0b-36ad-a347-5324b94994af",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/imageio\/format\/libjpeg.so",
    "name" : "libjpeg.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4800512000,
    "size" : 81920,
    "uuid" : "9c75b803-62c6-3dc9-9dce-0f4998c66066",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/imageio\/format\/libavif.so",
    "name" : "libavif.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4800659456,
    "size" : 81920,
    "uuid" : "0e984b5b-6453-3d92-b442-763dee938e0c",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/imageio\/format\/libwebp.so",
    "name" : "libwebp.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4800806912,
    "size" : 81920,
    "uuid" : "fe79c407-c0c4-3b09-aa30-63c5619fb005",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/imageio\/format\/libj2k.so",
    "name" : "libj2k.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4801118208,
    "size" : 81920,
    "uuid" : "10af1948-faa5-390e-8361-ce8c62bba7f6",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/imageio\/format\/libexr.so",
    "name" : "libexr.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4800954368,
    "size" : 81920,
    "uuid" : "17daa926-312d-3ea0-8f96-4e9e4aefa6e0",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/imageio\/format\/libjpegxl.so",



    "name" : "libjpegxl.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4800217088,
    "size" : 81920,
    "uuid" : "b28ac7b6-f30f-36d3-854c-15911859114c",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/imageio\/format\/libppm.so",
    "name" : "libppm.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4801429504,
    "size" : 81920,
    "uuid" : "979d3380-c52f-3638-b07f-cf9b3ab40029",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/imageio\/format\/libtiff.so",
    "name" : "libtiff.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4801282048,
    "size" : 81920,
    "uuid" : "ade6e13a-307f-38f0-bf53-527d44a6f77a",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/imageio\/format\/libpfm.so",
    "name" : "libpfm.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4801576960,
    "size" : 81920,
    "uuid" : "c11bbbe8-3c6a-36e2-97e3-83f150809905",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/imageio\/storage\/liblatex.so",
    "name" : "liblatex.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4801708032,
    "size" : 81920,
    "uuid" : "196f48a2-9c22-3b94-ab95-9597727f732e",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/imageio\/storage\/libemail.so",
    "name" : "libemail.so"
  },
  {
    "source" : "P",



    "arch" : "arm64",
    "base" : 4802035712,
    "size" : 98304,
    "uuid" : "4a3f4412-a88b-3eda-89f5-782b2732e34f",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/imageio\/storage\/libpiwigo.so",
    "name" : "libpiwigo.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4802215936,
    "size" : 81920,
    "uuid" : "b20685e2-d4d9-3ac1-a6ad-faab61276554",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/imageio\/storage\/libdisk.so",
    "name" : "libdisk.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4802363392,
    "size" : 81920,
    "uuid" : "36f1d48c-73db-3d96-a7b9-19aed47d4c67",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/imageio\/storage\/libgallery.so",
    "name" : "libgallery.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4802494464,
    "size" : 114688,
    "uuid" : "bcf18ba8-5eff-38e2-b797-ef51a6920e32",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libcolorbalance.so",
    "name" : "libcolorbalance.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4802674688,
    "size" : 98304,
    "uuid" : "5ffd2376-014a-3a2a-aeb0-57fc97e3e181",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libtemperature.so",
    "name" : "libtemperature.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4803051520,
    "size" : 114688,
    "uuid" : "fed8b242-3cb7-3727-9e90-42ae8a5afe5d",



    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libcolorzones.so",
    "name" : "libcolorzones.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4802854912,
    "size" : 81920,
    "uuid" : "dc5a1496-2fe9-3895-95ff-1798cfd3c0c5",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libsplittoning.so",
    "name" : "libsplittoning.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4803248128,
    "size" : 81920,
    "uuid" : "7db43dfd-48c6-3410-8763-7f2b57accdcd",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/liblevels.so",
    "name" : "liblevels.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4803395584,
    "size" : 98304,
    "uuid" : "612d65fe-57e7-3b6c-9a3a-b8fec9a427ca",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libgamma.so",
    "name" : "libgamma.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4803559424,
    "size" : 81920,
    "uuid" : "40ae3050-252c-37d5-b09f-b1c8ea2f808c",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libinvert.so",
    "name" : "libinvert.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4803706880,
    "size" : 114688,
    "uuid" : "c3962a11-b657-305e-845c-855ca824f0b0",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libcolorchecker.so",
    "name" : "libcolorchecker.so"
  },



  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4803887104,
    "size" : 81920,
    "uuid" : "a9ac701e-c96c-3a71-a5b5-71bcc7892d0f",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libzonesystem.so",
    "name" : "libzonesystem.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4804034560,
    "size" : 81920,
    "uuid" : "cf286772-a45d-3def-8ec0-7a9a4bae5ca2",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libbloom.so",
    "name" : "libbloom.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4804182016,
    "size" : 114688,
    "uuid" : "70ece2dc-02da-3328-8b72-1bd6c58d0649",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libcacorrect.so",
    "name" : "libcacorrect.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4804362240,
    "size" : 98304,
    "uuid" : "938c7182-220d-3e85-a145-01bddf4cba02",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libfilmic.so",
    "name" : "libfilmic.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4804526080,
    "size" : 81920,
    "uuid" : "bd99cc92-268c-3f7d-93a0-728194e29667",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libexposure.so",
    "name" : "libexposure.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4804919296,



    "size" : 147456,
    "uuid" : "a58700eb-3080-3a82-b40d-eeebd19fb35d",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libtoneequal.so",
    "name" : "libtoneequal.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4804689920,
    "size" : 81920,
    "uuid" : "f82d7027-480a-32ee-937f-f5fb5d6d01c3",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libcolisa.so",
    "name" : "libcolisa.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4805148672,
    "size" : 98304,
    "uuid" : "b3016093-5d37-3f47-9e5f-2d49954a6cd5",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libcolormapping.so",
    "name" : "libcolormapping.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4805312512,
    "size" : 98304,
    "uuid" : "49361c1e-847e-3253-8ecc-64a384b7c03f",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libnegadoctor.so",
    "name" : "libnegadoctor.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4805672960,
    "size" : 114688,
    "uuid" : "8d797be4-ec29-359c-9d0d-6b9bd24c592a",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libliquify.so",
    "name" : "libliquify.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4805476352,
    "size" : 81920,
    "uuid" : "4c61ff62-3512-3280-bd01-8f096858941a",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/librawoverexposed.so",



    "name" : "librawoverexposed.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4805869568,
    "size" : 81920,
    "uuid" : "a98c6800-eb23-334e-b66f-f0063d93cf23",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/liboverlay.so",
    "name" : "liboverlay.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4806017024,
    "size" : 98304,
    "uuid" : "802a8271-ee0d-31a9-b7e1-e5d69dcea2de",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libdiffuse.so",
    "name" : "libdiffuse.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4806180864,
    "size" : 81920,
    "uuid" : "35eea1af-7f9e-3db2-84d6-50f67333f024",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libglobaltonemap.so",
    "name" : "libglobaltonemap.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4806328320,
    "size" : 81920,
    "uuid" : "aca435d5-386b-387b-af5b-af336d8b3768",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libsharpen.so",
    "name" : "libsharpen.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4806475776,
    "size" : 81920,
    "uuid" : "dd7cfc85-7a0b-3514-9a76-5c5c3c36f3f7",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libhighpass.so",
    "name" : "libhighpass.so"
  },
  {
    "source" : "P",



    "arch" : "arm64",
    "base" : 4806623232,
    "size" : 98304,
    "uuid" : "8fa57bde-67af-3e8e-a489-98f36f61cd6a",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libcrop.so",
    "name" : "libcrop.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4806803456,
    "size" : 81920,
    "uuid" : "1cab634b-eae0-3b94-8fdc-21f57ac38a5c",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libhazeremoval.so",
    "name" : "libhazeremoval.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4807196672,
    "size" : 163840,
    "uuid" : "927dd3c0-a8ba-3b66-a45c-e9dffe906c50",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libhighlights.so",
    "name" : "libhighlights.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4806950912,
    "size" : 81920,
    "uuid" : "4e2c087f-09f2-3427-9e27-181d95c6705d",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libbilat.so",
    "name" : "libbilat.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4807442432,
    "size" : 81920,
    "uuid" : "6169dba2-f3c2-346f-8276-c78065506213",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/liblowlight.so",
    "name" : "liblowlight.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4807589888,
    "size" : 81920,
    "uuid" : "06632c65-f9e4-314b-a31e-5868741c2a11",



    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libprimaries.so",
    "name" : "libprimaries.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4807737344,
    "size" : 81920,
    "uuid" : "79acf3d0-2490-3be4-9fb4-f86bcf76b7a2",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libborders.so",
    "name" : "libborders.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4808097792,
    "size" : 131072,
    "uuid" : "6cead8b7-a469-3903-89e1-d2fff7b4fe1d",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libretouch.so",
    "name" : "libretouch.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4807884800,
    "size" : 81920,
    "uuid" : "31189575-2243-3b59-b8d6-94805367abe7",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/liblowpass.so",
    "name" : "liblowpass.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4808572928,
    "size" : 163840,
    "uuid" : "71f3b1e5-3daa-3d6f-9f06-f55c2852d7ad",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libchannelmixerrgb.so",
    "name" : "libchannelmixerrgb.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4808310784,
    "size" : 81920,
    "uuid" : "05ae0a00-cea8-35e6-a32a-716c5db26c9f",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libflip.so",
    "name" : "libflip.so"
  },



  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4808835072,
    "size" : 81920,
    "uuid" : "a6d85811-9416-36e7-8f67-6b5d4049eb92",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libgraduatednd.so",
    "name" : "libgraduatednd.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4808982528,
    "size" : 81920,
    "uuid" : "b5615f6e-c776-3a26-99e3-fd60ec3fc721",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libmonochrome.so",
    "name" : "libmonochrome.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4809129984,
    "size" : 81920,
    "uuid" : "4e7b7857-2dfb-3de3-be5f-b5864cf145cb",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libcensorize.so",
    "name" : "libcensorize.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4809277440,
    "size" : 81920,
    "uuid" : "3bc7ffd8-0cc9-3c90-93f1-8afc6665f06f",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libbilateral.so",
    "name" : "libbilateral.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4809424896,
    "size" : 81920,
    "uuid" : "ffcbf6f0-753c-3a4f-bc75-17ed8dc6bcc7",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libcolorreconstruct.so",
    "name" : "libcolorreconstruct.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4809768960,



    "size" : 114688,
    "uuid" : "2a05b822-30b6-3156-8917-daa8559eae3b",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/librgbcurve.so",
    "name" : "librgbcurve.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4809572352,
    "size" : 81920,
    "uuid" : "a626eb01-56a4-3f37-a3f1-3097c76a2be0",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libenlargecanvas.so",
    "name" : "libenlargecanvas.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4810162176,
    "size" : 114688,
    "uuid" : "de2e3277-00eb-3d75-b355-7a6270855d1c",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libtonecurve.so",
    "name" : "libtonecurve.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4809965568,
    "size" : 81920,
    "uuid" : "a81a6d0d-426b-3bc5-a42b-af8d2380cab6",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/liboverexposed.so",
    "name" : "liboverexposed.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4810358784,
    "size" : 81920,
    "uuid" : "8c0f7ca8-36de-3170-83e9-bc59d3c80edc",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libscalepixels.so",
    "name" : "libscalepixels.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4810506240,
    "size" : 98304,
    "uuid" : "bfacd806-0e64-354f-b0f5-6dc22bb8bd86",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/librawdenoise.so",



    "name" : "librawdenoise.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4810670080,
    "size" : 98304,
    "uuid" : "b355b72f-5b75-3df5-b38d-fb54ec828cad",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/liblut3d.so",
    "name" : "liblut3d.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4810850304,
    "size" : 81920,
    "uuid" : "5d6fd6ed-bbc0-34ca-ad1d-6c927e3cdc8d",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libmask_manager.so",
    "name" : "libmask_manager.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4810997760,
    "size" : 81920,
    "uuid" : "7a7d6f33-d79d-39d0-8306-e572d3ae5ca3",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libgrain.so",
    "name" : "libgrain.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4811145216,
    "size" : 81920,
    "uuid" : "ff3a2529-edfe-339a-ab5f-f5d0247bec31",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libnlmeans.so",
    "name" : "libnlmeans.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4811292672,
    "size" : 81920,
    "uuid" : "513dbb9f-82d5-3a97-aecf-789a86962c4c",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libtonemap.so",
    "name" : "libtonemap.so"
  },
  {
    "source" : "P",



    "arch" : "arm64",
    "base" : 4811440128,
    "size" : 98304,
    "uuid" : "e64ed4eb-f44d-3484-adf5-f5e3e982dc23",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libcolorin.so",
    "name" : "libcolorin.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4811603968,
    "size" : 98304,
    "uuid" : "9dbf4bb4-ab5a-3967-8494-9c22c43e054e",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libatrous.so",
    "name" : "libatrous.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4812013568,
    "size" : 147456,
    "uuid" : "4b880fe7-3b3b-3b0a-96da-8500eb3fc52c",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libfilmicrgb.so",
    "name" : "libfilmicrgb.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4811784192,
    "size" : 81920,
    "uuid" : "f10ea105-2932-3756-97f5-aefc5adac304",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libcolortransfer.so",
    "name" : "libcolortransfer.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4812242944,
    "size" : 81920,
    "uuid" : "9f20c68f-a69c-3920-8162-f42c924b820e",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libcolorize.so",
    "name" : "libcolorize.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4812619776,
    "size" : 147456,
    "uuid" : "ae02441a-9328-3466-9b2d-c7da6fc37ff9",



    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libashift.so",
    "name" : "libashift.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4812390400,
    "size" : 81920,
    "uuid" : "e87ad62c-fafb-3088-abb1-24a912256baf",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libspots.so",
    "name" : "libspots.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4812849152,
    "size" : 81920,
    "uuid" : "951e7e7b-3468-3990-b44e-d76683bb8e90",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libfinalscale.so",
    "name" : "libfinalscale.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4812996608,
    "size" : 81920,
    "uuid" : "4b74d036-2ac4-3903-9e72-975eb6e4a684",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libprofile_gamma.so",
    "name" : "libprofile_gamma.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4813144064,
    "size" : 81920,
    "uuid" : "269553d3-33f5-3f94-b24f-029492e7f133",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libcolorout.so",
    "name" : "libcolorout.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4813291520,
    "size" : 81920,
    "uuid" : "fb613465-f670-3b99-81b4-a5d38df91a40",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/librotatepixels.so",
    "name" : "librotatepixels.so"
  },



  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4813438976,
    "size" : 81920,
    "uuid" : "4b271114-8c92-3e3c-8bee-4d590e2c65ff",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libvignette.so",
    "name" : "libvignette.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4813586432,
    "size" : 81920,
    "uuid" : "6c76bfa3-c784-3f5a-828e-c2c07c714431",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libhotpixels.so",
    "name" : "libhotpixels.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4813963264,
    "size" : 147456,
    "uuid" : "e311da57-a921-3529-add4-da84d1d82c32",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libcolorequal.so",
    "name" : "libcolorequal.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4813733888,
    "size" : 81920,
    "uuid" : "82ddc27f-3c72-3d83-984c-c4f3532acfa4",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/librawprepare.so",
    "name" : "librawprepare.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4814225408,
    "size" : 98304,
    "uuid" : "d0700b0b-0362-3d8c-825a-dcfd73a5c091",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/librgblevels.so",
    "name" : "librgblevels.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4814749696,



    "size" : 262144,
    "uuid" : "f8600caa-5166-3bc5-bf09-aec38794bdf5",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libdemosaic.so",
    "name" : "libdemosaic.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4814405632,
    "size" : 98304,
    "uuid" : "8ea7b392-a0cd-3a8a-9611-d250e42f0ccb",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libbasicadj.so",
    "name" : "libbasicadj.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4814569472,
    "size" : 81920,
    "uuid" : "be19e1b3-4c54-3857-a6db-bc58b4ed0d2f",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libequalizer.so",
    "name" : "libequalizer.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4815306752,
    "size" : 131072,
    "uuid" : "3d86c525-0661-3f29-b3da-b1da0ccfd939",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/liblens.so",
    "name" : "liblens.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4815093760,
    "size" : 81920,
    "uuid" : "cd93ab7c-86bb-3627-95fc-d0765e782111",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libcolorcontrast.so",
    "name" : "libcolorcontrast.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4815519744,
    "size" : 81920,
    "uuid" : "c4554c71-04bd-3516-b327-14cca5e27c9c",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libdefringe.so",



    "name" : "libdefringe.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4815667200,
    "size" : 81920,
    "uuid" : "5662a4a8-e0cc-38a8-b6e6-445d5f1cceed",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libvelvia.so",
    "name" : "libvelvia.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4815814656,
    "size" : 98304,
    "uuid" : "a45db83a-16f5-3602-be4f-b0758fa2b729",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libwatermark.so",
    "name" : "libwatermark.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4815994880,
    "size" : 81920,
    "uuid" : "f058e52d-b6d8-3ff6-a7b6-c2c52c576d9c",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libchannelmixer.so",
    "name" : "libchannelmixer.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4816142336,
    "size" : 81920,
    "uuid" : "37586152-32f9-3fff-be6c-041751be41f9",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libclahe.so",
    "name" : "libclahe.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4816470016,
    "size" : 114688,
    "uuid" : "abe95c86-9c56-3041-bac5-7ed5e5d18782",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libcolorbalancergb.so",
    "name" : "libcolorbalancergb.so"
  },
  {
    "source" : "P",



    "arch" : "arm64",
    "base" : 4816273408,
    "size" : 81920,
    "uuid" : "5d3833f7-82e0-3b74-8faa-69f809b70cb6",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/librelight.so",
    "name" : "librelight.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4816666624,
    "size" : 81920,
    "uuid" : "99e6b54e-5122-3775-9a7a-611cb82d1eba",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libcacorrectrgb.so",
    "name" : "libcacorrectrgb.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4816814080,
    "size" : 81920,
    "uuid" : "3e1cd65f-1bf0-33b2-a1ff-cc1a87ed42d0",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libcolorcorrection.so",
    "name" : "libcolorcorrection.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4816961536,
    "size" : 81920,
    "uuid" : "f6ee012c-cfc2-3b33-8af9-a1ba9bbfd4d1",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libshadhi.so",
    "name" : "libshadhi.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4817108992,
    "size" : 81920,
    "uuid" : "fcad64d9-5eb4-314a-931d-4560e21c0a28",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libsigmoid.so",
    "name" : "libsigmoid.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4817256448,
    "size" : 81920,
    "uuid" : "3dbb0282-2c1a-3dd5-ad7f-20431db9844f",



    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libblurs.so",
    "name" : "libblurs.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4817600512,
    "size" : 114688,
    "uuid" : "a81c8b65-5e8b-38d2-ad2d-ab2687dfe393",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libclipping.so",
    "name" : "libclipping.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4817403904,
    "size" : 81920,
    "uuid" : "d722b4d5-2514-3a02-af61-0d9858eb1860",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libvibrance.so",
    "name" : "libvibrance.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4817797120,
    "size" : 81920,
    "uuid" : "830a1201-65dd-3d21-b30b-a2a7940a21cc",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libdither.so",
    "name" : "libdither.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4818157568,
    "size" : 114688,
    "uuid" : "e7ce200e-8e44-3f00-b3c1-d06bc1554406",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libbasecurve.so",
    "name" : "libbasecurve.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4817944576,
    "size" : 81920,
    "uuid" : "a96828a8-0796-35d3-aa34-72aec7e517ef",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libsoften.so",
    "name" : "libsoften.so"
  },



  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4818583552,
    "size" : 131072,
    "uuid" : "4c65f11c-e74e-305b-a14c-dc59968d1bc5",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/libdenoiseprofile.so",
    "name" : "libdenoiseprofile.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4818370560,
    "size" : 81920,
    "uuid" : "fd5ca192-a2e3-334f-aefb-a5e0de537544",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/lighttable\/libimage.so",
    "name" : "libimage.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4818796544,
    "size" : 81920,
    "uuid" : "9adc0801-48b7-39fc-abe0-f8492032b0d3",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/lighttable\/libselect.so",
    "name" : "libselect.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4819451904,
    "size" : 131072,
    "uuid" : "62825116-5633-3a31-aa0c-b034ef34ec31",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/lighttable\/libcollect.so",
    "name" : "libcollect.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4818927616,
    "size" : 81920,
    "uuid" : "c1dd41da-f908-3ef9-992a-14169909403d",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/lighttable\/libcamera.so",
    "name" : "libcamera.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4819058688,



    "size" : 81920,
    "uuid" : "a5141cef-7095-3370-a7d7-9e6d41ad8dcb",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/lighttable\/libcolorlabels.so",
    "name" : "libcolorlabels.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4819664896,
    "size" : 81920,
    "uuid" : "9573ce0c-4e4e-3ddd-972a-68290b63eb59",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/lighttable\/libcolorpicker.so",
    "name" : "libcolorpicker.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4819812352,
    "size" : 81920,
    "uuid" : "5eef2ce4-6364-3133-9190-17f090bd6bac",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/lighttable\/libioporder.so",
    "name" : "libioporder.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4819943424,
    "size" : 98304,
    "uuid" : "7771451b-e7b2-3c98-800d-c57382c4b99d",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/lighttable\/libmasks.so",
    "name" : "libmasks.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4820107264,
    "size" : 81920,
    "uuid" : "f4232e40-7e6a-36cd-998e-cf618ae2790f",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/lighttable\/libbackgroundjobs.so",
    "name" : "libbackgroundjobs.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4820238336,
    "size" : 98304,
    "uuid" : "d67d7c91-7d64-3c14-ab05-b8dd658da4b5",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/lighttable\/libmetadata.so",



    "name" : "libmetadata.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4820402176,
    "size" : 81920,
    "uuid" : "053ce6ae-3b93-3efb-be80-89239b95639e",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/lighttable\/libsession.so",
    "name" : "libsession.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4820533248,
    "size" : 98304,
    "uuid" : "f99fc76d-c59d-359d-89d4-743810fddb88",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/lighttable\/libtimeline.so",
    "name" : "libtimeline.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4820680704,
    "size" : 98304,
    "uuid" : "b7b5bf67-b3de-38ef-8e71-fd90102cd76d",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/lighttable\/libgeotagging.so",
    "name" : "libgeotagging.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4820860928,
    "size" : 81920,
    "uuid" : "2388371e-a8f6-3ff2-aed8-158975afcd56",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/lighttable\/libfilter.so",
    "name" : "libfilter.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4820992000,
    "size" : 81920,
    "uuid" : "ab3ddb78-e556-3f2a-a21c-e3252bb71f7e",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/lighttable\/libstyles.so",
    "name" : "libstyles.so"
  },
  {
    "source" : "P",



    "arch" : "arm64",
    "base" : 4821155840,
    "size" : 98304,
    "uuid" : "693aab7e-09bc-39d6-92a7-c104f2413f01",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/lighttable\/libmetadata_view.so",
    "name" : "libmetadata_view.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4821319680,
    "size" : 81920,
    "uuid" : "0bb19070-f4e1-3929-97d3-5a5ab1c96155",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/lighttable\/libmodule_toolbox.so",
    "name" : "libmodule_toolbox.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4821450752,
    "size" : 81920,
    "uuid" : "1dee0b68-8e00-35c4-91b9-81d00ea415a2",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/lighttable\/libduplicate.so",
    "name" : "libduplicate.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4821581824,
    "size" : 81920,
    "uuid" : "50d7e71f-dba4-3bae-bf7b-79e4b600aea3",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/lighttable\/libratings.so",
    "name" : "libratings.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4821712896,
    "size" : 81920,
    "uuid" : "a343b10c-d4da-3e85-a435-5392ff66dc8d",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/lighttable\/libcopy_history.so",
    "name" : "libcopy_history.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4821860352,
    "size" : 81920,
    "uuid" : "7fa53997-69a1-3d26-95ec-1399dee11dd0",



    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/lighttable\/librecentcollect.so",
    "name" : "librecentcollect.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4821991424,
    "size" : 81920,
    "uuid" : "7a537573-2697-38e6-8e8a-c38950df61b6",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/lighttable\/libmidi.so",
    "name" : "libmidi.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4799053824,
    "size" : 32768,
    "uuid" : "b1db8345-a7df-357d-b2af-71ffd6595495",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/libportmidi.2.dylib",
    "name" : "libportmidi.2.dylib"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4822138880,
    "size" : 81920,
    "uuid" : "25a1ddcd-e4f9-3c07-ba99-af0df833cf7e",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/lighttable\/libmap_settings.so",
    "name" : "libmap_settings.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4822466560,
    "size" : 114688,
    "uuid" : "0d14e372-d288-3bf4-b1b7-38e4e87d3db1",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/lighttable\/libprint_settings.so",
    "name" : "libprint_settings.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4822908928,
    "size" : 147456,
    "uuid" : "f0016804-af7a-325c-885e-0d308d28a3ce",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/lighttable\/libfiltering.so",
    "name" : "libfiltering.so"
  },



  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4822269952,
    "size" : 81920,
    "uuid" : "90e9b838-f064-375c-811e-83528e864193",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/lighttable\/libnavigation.so",
    "name" : "libnavigation.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4822663168,
    "size" : 81920,
    "uuid" : "9475f16e-f125-3688-84c9-56b578a50810",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/lighttable\/libimage_infos.so",
    "name" : "libimage_infos.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4823351296,
    "size" : 114688,
    "uuid" : "85351819-963e-345c-9547-a45a9aadef44",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/lighttable\/libexport.so",
    "name" : "libexport.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4823547904,
    "size" : 114688,
    "uuid" : "1040317f-aebf-3b10-9e15-2f245dc00cd0",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/lighttable\/libhistogram.so",
    "name" : "libhistogram.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4823957504,
    "size" : 131072,
    "uuid" : "cc8c0689-817c-35f9-a583-af0d12477c8f",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/lighttable\/libmodulegroups.so",
    "name" : "libmodulegroups.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4823154688,



    "size" : 81920,
    "uuid" : "21e5a76c-fcd5-3026-bee7-01fa9914708e",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/lighttable\/libviewswitcher.so",
    "name" : "libviewswitcher.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4823744512,
    "size" : 81920,
    "uuid" : "2dddb08e-6642-38fe-a824-0d5be99b807c",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/lighttable\/liblighttable_mode.so",
    "name" : "liblighttable_mode.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4824170496,
    "size" : 81920,
    "uuid" : "dfbb4ae7-a2e9-3808-8845-7fbff33eb711",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/lighttable\/libfilmstrip.so",
    "name" : "libfilmstrip.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4824301568,
    "size" : 81920,
    "uuid" : "cbfe9972-a96c-3f8f-a992-be0f0f87895b",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/lighttable\/libmap_locations.so",
    "name" : "libmap_locations.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4824432640,
    "size" : 98304,
    "uuid" : "0b1a3b9a-4d39-357e-857f-8b102cb75b1c",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/lighttable\/libhistory.so",
    "name" : "libhistory.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4824612864,
    "size" : 81920,
    "uuid" : "6bcf37b9-bcbe-3ea5-ada2-698f54c216da",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/lighttable\/libglobal_toolbox.so",



    "name" : "libglobal_toolbox.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4824776704,
    "size" : 81920,
    "uuid" : "b602cdf2-d344-3889-860f-bf1dbaf8405a",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/lighttable\/liblive_view.so",
    "name" : "liblive_view.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4824907776,
    "size" : 98304,
    "uuid" : "17658f47-3cc8-3640-ac74-2d0e77118133",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/lighttable\/libimport.so",
    "name" : "libimport.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4825088000,
    "size" : 81920,
    "uuid" : "2c9328eb-e94d-3441-990f-705d80463a4b",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/lighttable\/libdarktable_label.so",
    "name" : "libdarktable_label.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4825219072,
    "size" : 81920,
    "uuid" : "819d1fe9-789b-3863-9fb0-2216253cb9dc",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/lighttable\/libview_toolbox.so",
    "name" : "libview_toolbox.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4825546752,
    "size" : 114688,
    "uuid" : "38fac560-ba85-3be3-b025-3cb700ebe13e",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/lighttable\/libtagging.so",
    "name" : "libtagging.so"
  },
  {
    "source" : "P",



    "arch" : "arm64",
    "base" : 4825350144,
    "size" : 81920,
    "uuid" : "3aac4ebd-65a8-30a9-81e2-b23fdb8f16ad",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/lighttable\/libhinter.so",
    "name" : "libhinter.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4825743360,
    "size" : 81920,
    "uuid" : "903405f4-c9b1-36ef-a476-1c92710c6248",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/lighttable\/liblocation.so",
    "name" : "liblocation.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4825890816,
    "size" : 81920,
    "uuid" : "31fb9df2-2ced-351f-bf60-9c56129ed966",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/lighttable\/libsnapshots.so",
    "name" : "libsnapshots.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4826054656,
    "size" : 81920,
    "uuid" : "6cc0c173-0026-3c0a-97c9-c0d3e1bcc66e",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/darktable\/plugins\/lighttable\/libgamepad.so",
    "name" : "libgamepad.so"
  },
  {
    "source" : "P",
    "arch" : "arm64",
    "base" : 4827742208,
    "size" : 1130496,
    "uuid" : "2ca9ecb6-a2a7-396b-bda8-bb1da5c86934",
    "path" : "\/Applications\/darktable.app\/Contents\/Resources\/
lib\/libSDL2-2.0.0.dylib",
    "name" : "libSDL2-2.0.0.dylib"
  },
  {
    "source" : "P",
    "arch" : "arm64e",
    "base" : 4801855488,
    "CFBundleIdentifier" : 
"com.apple.GameController.KeyboardAndMouseSupport",



    "size" : 32768,
    "uuid" : "98017f42-c29c-37fe-90b0-7da7fa61b1ee",
    "path" : "\/System\/Library\/Frameworks\/
GameController.framework\/Versions\/A\/Resources\/
KeyboardAndMouseSupport.bundle\/Contents\/MacOS\/
KeyboardAndMouseSupport",
    "name" : "KeyboardAndMouseSupport",
    "CFBundleVersion" : "12.1.3"
  },
  {
    "source" : "P",
    "arch" : "arm64e",
    "base" : 4797612032,
    "CFBundleShortVersionString" : "900.4.2",
    "CFBundleIdentifier" : "com.apple.iokit.IOUSBLib",
    "size" : 49152,
    "uuid" : "a559d3de-a9fb-3dfb-8961-65a9a524e567",
    "path" : "\/System\/Library\/Extensions\/IOUSBHostFamily.kext\/
Contents\/PlugIns\/IOUSBLib.bundle\/Contents\/MacOS\/IOUSBLib",
    "name" : "IOUSBLib",
    "CFBundleVersion" : "900.4.2"
  },
  {
    "source" : "P",
    "arch" : "arm64e",
    "base" : 6902751232,
    "size" : 534452,
    "uuid" : "6beafde4-b011-3e47-8aae-4d7b6e4bb7e8",
    "path" : "\/usr\/lib\/dyld",
    "name" : "dyld"
  },
  {
    "size" : 0,
    "source" : "A",
    "base" : 0,
    "uuid" : "00000000-0000-0000-0000-000000000000"
  },
  {
    "source" : "P",
    "arch" : "arm64e",
    "base" : 6906429440,
    "size" : 53248,
    "uuid" : "3b8268be-4e02-3b4a-8b41-baed2bbaacff",
    "path" : "\/usr\/lib\/system\/libsystem_pthread.dylib",
    "name" : "libsystem_pthread.dylib"
  },
  {
    "source" : "P",
    "arch" : "arm64e",
    "base" : 6906187776,
    "size" : 241656,
    "uuid" : "9fea25a4-e8ca-3f3d-901c-a53ff2bc7217",
    "path" : "\/usr\/lib\/system\/libsystem_kernel.dylib",
    "name" : "libsystem_kernel.dylib"



  },
  {
    "source" : "P",
    "arch" : "arm64e",
    "base" : 6904963072,
    "size" : 532476,
    "uuid" : "96556ba0-9c34-326a-89f4-d3835de617ae",
    "path" : "\/usr\/lib\/system\/libsystem_c.dylib",
    "name" : "libsystem_c.dylib"
  },
  {
    "source" : "P",
    "arch" : "arm64e",
    "base" : 7368482816,
    "CFBundleShortVersionString" : "2.0",
    "CFBundleIdentifier" : "com.apple.audio.midi.CoreMIDI",
    "size" : 753664,
    "uuid" : "b944feff-be38-3137-8548-9058fb577397",
    "path" : "\/System\/Library\/Frameworks\/CoreMIDI.framework\/
Versions\/A\/CoreMIDI",
    "name" : "CoreMIDI",
    "CFBundleVersion" : "88"
  },
  {
    "source" : "P",
    "arch" : "arm64e",
    "base" : 7091179520,
    "CFBundleShortVersionString" : "1.0",
    "CFBundleIdentifier" : "com.apple.audio.caulk",
    "size" : 163840,
    "uuid" : "df348b0e-ec5a-338c-bdce-124cbc65fc2f",
    "path" : "\/System\/Library\/PrivateFrameworks\/
caulk.framework\/Versions\/A\/caulk",
    "name" : "caulk"
  },
  {
    "source" : "P",
    "arch" : "arm64e",
    "base" : 6906888192,
    "CFBundleShortVersionString" : "6.9",
    "CFBundleIdentifier" : "com.apple.CoreFoundation",
    "size" : 5197824,
    "uuid" : "ae4610f8-7c5c-3484-858e-cae7457d206e",
    "path" : "\/System\/Library\/Frameworks\/
CoreFoundation.framework\/Versions\/A\/CoreFoundation",
    "name" : "CoreFoundation",
    "CFBundleVersion" : "3107"
  },
  {
    "source" : "P",
    "arch" : "arm64e",
    "base" : 6969200640,
    "CFBundleShortVersionString" : "6.9",
    "CFBundleIdentifier" : "com.apple.AppKit",



    "size" : 20955136,
    "uuid" : "49d8b1b6-0ea8-36ad-89fd-a41acf00a742",
    "path" : "\/System\/Library\/Frameworks\/AppKit.framework\/
Versions\/C\/AppKit",
    "name" : "AppKit",
    "CFBundleVersion" : "2575.20.21"
  }
],
  "sharedCache" : {
  "base" : 6901940224,
  "size" : 4753735680,
  "uuid" : "f66bac4e-1e78-38af-b867-c1cf5daa0302"
},
  "vmSummary" : "ReadOnly portion of Libraries: Total=1.3G 
resident=0K(0%) swapped_out_or_unallocated=1.3G(100%)\nWritable 
regions: Total=2.4G written=1863K(0%) resident=1863K(0%) 
swapped_out=0K(0%) unallocated=2.4G(100%)\n\n                                
VIRTUAL   REGION \nREGION TYPE                        SIZE    COUNT 
(non-coalesced) \n===========                     =======  ======= 
\nAccelerate framework               128K        1 \nActivity 
Tracing                   256K        1 \nCG image                            
80K        4 \nColorSync                          224K        9 
\nCoreAnimation                      336K       21 \nCoreGraphics                        
32K        2 \nCoreUI image data                  416K        5 
\nDispatch continuations            80.0M        1 \nFoundation                          
16K        1 \nKernel Alloc Once                   32K        1 
\nMALLOC                             1.5G      161 \nMALLOC guard 
page                  288K       18 \nMALLOC_LARGE (reserved)           
32.6M        2         reserved VM address space (unallocated)
\nSQLite page cache                 26.1M      209 \nSTACK GUARD                       
57.8M      118 \nStack                            709.4M      118 
\nVM_ALLOCATE                        432K       21 \n__AUTH                            
3039K      430 \n__AUTH_CONST                      43.2M      628 
\n__CTF                               824        1 \n__DATA                            
19.0M      818 \n__DATA_CONST                      24.0M      893 
\n__DATA_DIRTY                      1613K      214 \n__FONT_DATA                        
2352        1 \n__GLSLBUILTINS                    5174K        1 
\n__LINKEDIT                       610.2M      265 \n__OBJC_RW                         
2354K        1 \n__TEXT                           707.9M      911 
\n__TPRO_CONST                       272K        2 \ndyld private 
memory                256K        1 \nmapped file                      
390.9M       75 \nowned unmapped memory              240K        1 
\npage table in kernel              1863K        1 \nshared memory                      
896K       17 \n===========                     =======  ======= 
\nTOTAL                              4.2G     4953 \nTOTAL, minus 
reserved VM space     4.2G     4953 \n",
  "legacyInfo" : {
  "threadTriggered" : {
    "queue" : "com.apple.main-thread"
  }
},
  "logWritingSignature" : 
"c31ac0e328d102936b2d536c32cbee58675f5665",
  "trialInfo" : {



  "rollouts" : [
    {
      "rolloutId" : "64c17a9925d75a7281053d4c",
      "factorPackIds" : {
        "SIRI_AUDIO_DISABLE_MEDIA_ENTITY_SYNC" : 
"64d29746ad29a465b3bbeace"
      },
      "deploymentId" : 240000002
    },
    {
      "rolloutId" : "5ffde50ce2aacd000d47a95f",
      "factorPackIds" : {

      },
      "deploymentId" : 240000454
    }
  ],
  "experiments" : [
    {
      "treatmentId" : "45f4e2a5-551b-4bc2-a2dc-19c244dda8f8",
      "experimentId" : "6643969b3099cf28e049862f",
      "deploymentId" : 400000007
    }
  ]
}
}


